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1.

_jaa+€ ,a<h

L. amb=
3 13ab-15,azb

I (-2}@(3g2)="7

l. egitlikte @igleminin gérevi belirlenmigtir. Buna
gbre, Il. egitilkte soru isaretinin yerine agafjidaki-
lerden hangis! gelmelidir?

In equation |, the operation of @ is established.
According to this eperation, which of the following
does the quastion mark stand for in equation 17

N-5 B-1 Q7 D18 E)19

a tablosunda a) b ve ¢ harfleri

Yukandaki top 4
yerine kullamimigtir, Buna|

pozitit, birer sayit
gbre, a Kagtir?

In the adwition table above, the letters a, b and ¢
each stand fw a positive ngmber. Accordingly, what

is thg value of . f

7 B8 9 D10  E)11!

s A |

-
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T
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at is the value of a?
% D4 E)5

¢ sach stand for a pasitive number.
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4, - 5, sorularda verilen pargalar kullanilarak
olugturulan geldi bulunuz.

In questions 4 - 5, find the figure using given
fragments.

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

cevaplayiniz.

In questions 6 — 8, find the correct answer in
accordance with the rolatiofiship estaolished in
the example below,

s

| OFINEK

| EXAMPLE
(

.§9k1| P ekil Il
gure | igure Ii

, N ve P harfteri |, gekildeki gibi birbirine

tir. I sekildeki baglanti sayilan va bir-
alanan harfler defiismemek kosuluyla
Il gekil elde edilmigtir.

< Letters K, L, M, N and P are linked as in Figure |.
“Figure 1l has been constructed so as not to change
which letters are linked to which, and the number of

links made with sach letter, in Figure I

6. - B. sorulan drnekte veﬂlemlnqkf;e giire : )
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x=7 y=7

II. sekilde x ve y nin yerine gelmesi gereken harfleri |

bulunuz,
Find the letters that correspond to x and y in Figure 11,

Find the letters that correspond to x and y in Figure H,

X oy
A) A B

B) F 8 ~
G D - y

D) E F L

Bl € A >

7.

. sekilde x ye y nin yerine gdlmesi gersken harfler?

bulunuz.

Find the lifers that spand to x and y in Figure ll.
&a

A} .’)

M R
B P L
c R L
D) P M
E M K

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

---1201 3-sv0s

)

Il. ?ekllde xXvey erine gelmesi gereken harfler
bulun

! Findﬁhe letters|that correspond 1o X and y in Figure .

Ny 4
B T A

T P
m m P
EE N A

3/20



104 2014

SELCUK UNIVERSITESI-SUYOS KOORDINATORLUGU

_2013-80UY0s
o Y

9. - 10. sorularda, soru igaretinin yerine getirilmesi
gereken sekli bulunuz.

In questions 9 - 10, find the figure to replaca the
question mark.

9. j
Vv a
A B) ®)
v
Y
D) B
_Z L
P \.}“ -
10.

D) E)

I
12.

1. I 1, w.
A 1B [+

B A
[ A ?
G | B
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11.-14, sorularda, verilen sekil uizmﬁ-a soft )
isaretinin yerine getirilmes] gerekan gekl
bulunuz.
In questions 11 — 14, find the figure which the
question mark stands for rwﬁgurc,
sBquence.
d ~
11, |
L I . IV,
20 1 6
—~
_/. \\
i ~
Ly S LF u
ﬂ B) 2 ¢ 4
"f
4 0
0) E)
B 2013-s0Y0s
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A B) c
G B G
A icle 3
B m[ A A
D) E)
~
cla
: ;
] c| |a L
~
o\l " -
1'31 ‘
| Il Ifl.
1 2 1
3 . Tl \ L. — y ;
F) 1 \ 19
5 20 20
>
N D BN 0
AN i
|2 dh B ket |8
200 | | 19
a1 20 20
lej E)
5 ] 5
15 -t
70 i
oq _ 0 1]
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15.-16. sorulardaki (a.) say dizisinde a,=2, a,~3, a =2 I17-II:F 18. s:rulalrda!. I,tgrl_JIpIallc(i Is‘ (cu:giﬁ_ hars-
- eribirer rakamta gésterilers gru i gay
ve n24 lgin @,= 8- 8. &jolarak verlimistity | |15 elde edilmistir. Soru igaretiyle lﬁalirtllaa
In questions 15.-16.{a+) number sequence is given as sbzciigiin hangi sayiyla gésteriidifini bulunu3
a=2 a=3,a=2andn>4,a =a .a P '
voor n= A Bed v In questions 17 and 18, the humbers in group Il
stand for the words in group |, When each letter
has been coded with a specific nu I. Find the
. - number which corresponds to the worttindicated
15 ataxtas: by the question /
/s
i
A B) 2 C)4
17. I .

D)6

68

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

2434 4681 4147
2575 6585
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N
16. a_+a_+a _+a_=7

C

A0

D) 12

e
>
> \
\\,

C j

19. ve 20. sorulan agafidaki tabloya gére cevap-
layimz.

Answer questions 18 and 20 in accordance with
the table given belaw.

o O w|®mol

O m »im ol m

mlolo o = >
miEim Q0

mig 0w =g
= mo|o|w[m

Tabloda Alisleminin gérevi belidenmigtir.

The cperatian af A is established in the table
AAD=A ~

BAGC=A

19. (AAB)A (CADI=7 A

AA BB CC DD EIE <

A
http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1
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CEIE ]
F r(/
ACIK=17
2434 B) 2575 C) 4147
% D) 4681 E) 6595
18. L i,
KASA] 1232 1289 7282
YAKA J 1665 4212
KUTU
MALAJ
KA LEJ
MALA=?
Ay 1232 B) 2787 C) 7282
D) 2787 E) 7828
2013-50Y08
21, x |2 | b ‘: |
a |a+i2ll | ‘3
b Ba+] J
P , /
("‘ }

ma tablosunda a've b harfieri

cve, the letters a and b
ber. Accordingly, what

D)7 E)8

(i

B)5 C)6
»d

J/
'
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N .
20 .-"\A)ﬁE:
-
NE BB GC DD EE

%

F

lia?y:-rﬁ: sorulan agadidaki tabloya gbre cevap-
Answer questions 22.-24. in accordance with
the table given below.

22. N
LAOO AL
BAONOL®
ClALlAMOL
LAIOIOCIAILTM
OlE/ mA®
AN @A
He /[ ICAO
I 1.

; L
L
s
L=A.G=( P

[ ve I, yukandaki tablonun farkh birer pargasidir,
Buna gbre, Il deki F ve X nin yerine\asafidakiierd
hangisi gelmelidir?

1 and |l are different pans of tha fiqura above,
Accordingly, which of the foll g combinations

should replace F and Kin II7
_F_ S K
A1

B A

\Z
c &

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1
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7
B ) 2013-sS0v0s
23.

Al®®|_| Al
BAONO
OlAl AN
AOIOILITA

| Ol.l‘é‘}\

| e [ OO

t ve Al, yukandaki tablonun farkh birer pargasidir.
+="Buna gbre,  deki Y ve Z nin yerine agadidakilerden
hangisi gelmelidir?

| and 1l are different parts of the figure above,

Accordingly, which of the following combinations

! should replace ¥ and Z in [I?

Y -z
A O
B A L
Qg O o
0} @ O

7120
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24.

RO SN

I ve Il, yukandaki tablonun farkll birer pargasidir. |
Buna gare, I dekd E ve M nin yerige agafidakilerden !

hangisi gelmelidir?

| and Il are different par
Accordingly, which of the
should replace E and-bLin {7

llowing combinatians

B A
"

g A% o
i j O

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

of the figuré abave. |

g LJ @

2013-SUY0s

25, L aAbeab J/ W r)

;s \

I a¥b=(a+2.b
Il (2A3)5K5=7

3K iglermlerinin gbrevieri
Il esitikto sor isareti-

hangisi aelmelidir 7

L. ve |I. esitlikl
belidenmigtir. Buna ge
nin yerine agajidakilerd

In equations ! of Aand ¥ are
astablished, operations, which of
thefolloWing does tion mark stand for in

equation 1l
4‘:635 36 '§}37 )38 E)40

lafi birer rakamla gdsterilerek Il gruptaki sayi-
lar elde edilmisgtir. Soru isaretiyle belirtilen kKO-
menin hangi sayiyla gosterildigini bulunuz.

2(? ve 27. sorularda, {. gruptaki kilmelerin yakil-

In questions 26 and 27, the numbers in group I
stand for the sets of figures in group |, whan each
figure has besn caded with a specific numeral,
Find the number which corresponds to the set of
the figures Indicated by the guestion mark.

oG, | I,

A\ l:l {3 1 [ 124 435 213

wOAOl | s 314

[IAO

SNAN J 1

Gy )L
DA O=7

A) 124 B) 213 C) 435

D) 542 E) 314
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B ) 1%1 3-50Y08
27. . L. 28. / )

kET A 2345 B425 5063
O ANE 4310 1563

-]

A

PAN

|

- ele

oFY |

Ok A
WALk =2

A) 3462 B)3642 C) 3624

D} 3264 E) 3426

28. - 30. sorular agafidaki sekle gire cevap-
fayimiz,

Answer questions 28 — 30 in accordance wi
the figure given balow.

(Yukarlda verilen sekle gire, K kaghir?
According to the figure above, what is the value of K?

A12 B4 C16 D18 E)20

Yukandaki sekil g, b, ¢ ve d harfldriyle gbsterilen | 30,

ddrt pozitif tam | igeren bazi iglemlere gore |

dlzenlempigtir. Hal in gosteraigi sa |Iar her ;

soruda farkl olabilir fa bunlaria yapilacak ig- A A

lemler her goruda aymidir. | Vv
rganized according
to various opera our positive integers

represe d by the lefters; a,'b, ¢ and d, The integers
sented by the letters may change from quastion Kel=7
estmn o 1¥] operations to be done ramain the

sa .

Yukarida verilen gekle gére, K+ L kaghir?

: Accordin'? ta the figure abave, what is the valus
JofK+LT

Y B3 4 D5 E)6

10

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1 9/20
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Yukanidaki terazilerin ii¢ii de dengede oldufjuna
gore, |l terazide soru igareti a$ﬁ§ldaki]erd9n\
hangisini gtstermektedir?

which of the following does the guestion markjstand

for in

A)

All three scates above are in balance. Accnr@ly,

the third scale?

N
aaA® B)OSGA ()4
Djee E) @aa

D

e )

3s.
I

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

11

m;.

2013-8U¥OS

B) AAG®

Deee

AN

AN

Yukandaki terazilerin ligii de dengede oldufuna
gbre, Il terazide soru igareti agafidakilerden
hangisini gbstermektedir

- three scales abeve are in balance. Accordingly,
whikh of the following does the question mark stand
for in the third scale?

Ceei

Emm

2013-SUY6s

A

10/20
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WARVERAY 2

ey
A @\\\@ c;@

/o

n ——

1. |
A

Yukandaki terazilerin Ggl de dengede oldufiuna

gbre, Il terazide soru i_;}aretl agadidakilerden
hangisini gostermektedi \.‘

> b p-

which of the following does the question mark stand

All three scales above ara in balance. Accordingly,
far in the third scale? {

Abddi B}QQQQ\E}

D) Ak E) A
34,
Azafidakilerden hangisiUsti agik
acilimidir,
(Which ane s tfte ex
A)

LT,

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

E)

©

A . B) .
-, i -
4 L] e
ﬂ_ T“Ju_'i i
C) D)

1= |
] | B
- ! gy S&
‘ :L_._L__i L.
1
12
B 2013-30Y0s
: . 38. ’ W
37. - 40. sorutarda, verilen gekil matrisinda / —
soru isaretinin yerine hangi seklin getirilmesi 1
gerekiigini bulanuz.gereken sekil bulunuz. i , )
In questions 37. - 40, find the figure which the ‘ m:l
question mark stands for in the given figure -y -\ )
matrix. i -
Q O Q ;g
N s s i .3

11/20
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13

B _301 3-s0v0Os
39, | [ j
\ >
|

Q) \ /
[

i

D) E) >
[—— —_— ~ ey
| ‘I’ :I )
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4

14
B _2013-8Uv0s
| )
! _
a1, iem. / y)
S6L+JL69 | log, 2+ log,3~log, 27 =
JLad-Joes |
|
|
|
A B)-8 04 DO E)3
42.
a 2 5 i
=l a-h==
PN > |
a="7 '

By - () Dy~ E)-
) g ) j )

A
ol
-l !
p
I~

.

43, 46.

* \ :
v “
o 1 o

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1 13/20
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- J AT BT =256

47.
l_[L_l]_[l_l L
4 14 2) 3 6) 6
1 | 1 1 1
Ay B> O~ D= B
Y ;5 % g By
48.

2r4+y=3 xL¥ ;

+
3.2
>
4

A2 B)-12 O _“:mhf;

Ay~ % m*fV Osinls* D E)-l

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1

TR TR NN

Sinx J

f(J}—InL

|
| (

ol 0T
| 5)
|

A=l B 0 D)2 E)-2

15

B 2013-sUY0OS

" M)

f(x) =log, ™

fix=17
// ’

A)5/InS BI-5¢ CHSw, D)-In§ E)Sx

/W/

A /
.

’)!:L’ Sxt6
"/

o
‘A]—In[i] B}En[é] CJln[i]
; 3 4 5
4 3
Dyln (;) BE)ln [E)

52,

x+2xCosx
=0 3 Sinx Cosx

=7

A2 B)-l Cyo Dy L2

14/20
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53, 55. / ’\
' Ly

C =2 byt {Unit Square)
Fix)=20 =1, glx)=x-2, ! ot

(os " }(2)=" @

L AJIS/4 BNI4 )94 D2 El

A3 B3 onr

56.
IC(;.&'[!?)d!
lim® - =
P »
A2 By ci Dil L2
17
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57.
350 T Cos=1
N 6 oy P
Al BW3/2 Q2 D3a Byl
58.

+2481a+81 =10

8 Dy-15  E)3

http://mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=247&sayfa= 17423&dt=1

18

SELCUK UNIVERSITESI-SUYOS KOORDINATORLUGU

2013-80Y0S

8

X-xSimCosy 9

lim ———r =1
al o S Cosy o <
A)=2 B2 - n__u_‘/mq

El./
‘ log,2=x

\ v
lUg_‘,m [EJ =7

Bi-x C)—2x

Djde  Ei-dx

b2.

e, =

i(x‘ wx)dx="
dx :

Av-4 B1-2  C10 D)2 EM

16/20
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63.

() =1Cos

! 3_'? _n

)
A-VZ2 -2 00 D2 Epz2
64.

I'uuLl,lx):‘.J

PRI x x
Al BN alfz Dl

65.

A

638.

AN

>

|C'b’!: = Yo
.Al = Gt

'
By CK D)9 E)L0
[
19
B
ST CosT”
SinBY Cos0T
EW M=1 2 Fy-2 i

http://mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=247&sayfa= 17423&dt=1

66,

%

IED| =4em, IABl —12cm, iJ'U':| —=tem

Bl
67.
8,-’.' :

|AH| = |8C]
|B[.’| = ldem
IAD| = Sewm

LY RN] R340
70.

2013-80Y08

x="7

¥ D% E®

ALABD)+ ALADC) =70’

)42 E154

D)5

2013-5UY0s
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69,

O merkez

|O{'| =9cui
|AC| =9ent
BC = Tem
|BC] &

0 merkerli cemberin

rigapt kagtir?

AES DA 114 Fil6

%)

12.
0,025 +0,08 =0,0152+0.07
a=17
Al B)-1 0O D)-5 B2
73
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[AB| = /r‘f t(.'u| =|Au|

ALABCDY=7 em®

A)225  BI6Y  COl44 DUOD E)RI

48] - |ac]
|4E]=]E8|
|20]=|c]
|AD| = 3|ak|
1AC] =30
|EF|= 2

AJS B} Cy7 8 E)9

20
B ___2013-SUY0s
75.
Al Bkl C)F Dyj-i  EW
76 ' }
Pt a2
1—-i 1+

18/20
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f@=9, F(9)=1 L
I _, .-
T

A) IJlTSfmﬂ ¢ BYn|Cosx| + ¢ C)In|l - Cosy+¢

D)l - Sinl+e EM0

B
78.
Fixy= (,"m-{S;‘.u(E_c}}
Fnfa)=1
A)y-2 B)-1 Cio Dyl EH.
79.
N

A1-2  B)-1 (8y4]

\

http:/mww.fdp.selcuk edu.tr/Sayfa.aspx?birim=2478&sayfa=17423&dt=1
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|

)Zr’ B)-2 )2 D)-2  E)

’

7.

fix) =«

A2 B O-if6 Dyjs Ejf2

21

2013-8UY0Ss

CEVAPLARINIZ! KONTROL EDINiZ.
END OF TEST.

PLEASE CHECK YOUR ANS RS‘.?

/
;s
.

TesT BivTl.
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———
>

> ' |
- I
80. \ i
I ;
, x + 3 X+ ¥ -7 :
(‘ (453 Ty i

Ay-1 Bl Cix— ¥

Py F)l—x

22
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